Ase BFAUITR DF —LBU(HE) OBFHEH OmBY—LE
T a J8v7 6 Game Y—58, 108318
No FTXTNG F—L#& TJJoATC 250-POND [ SEAET-ZX [ @© | @ | @ || RE. BIRE 11838
6 - 2 6 - 2 [1000
1 JYUXTC 6 - 46 - 1|28 6 [o7e6] 1 5
12:00 e - 1le - ilom FYURTC
2 - 6 5 - 6 |0.000
2 50-POND 4 - 6 6 - 5 | o | 1 |oss7| 3
1 - 6 5 - 6 |28
2 - 6|6 - 5 0.500
133 3 | RRKET=X |1 - 6|5 - &6 1| 2 [oss2| 2
1t - 616 - 5 18L s
7 g b vy 6 Game 10:30 o COOLON
No FTHINO F—LZ I=F&ET 5 FATS 6 COOLON T EBTLD O] @ [IEf et
- 4 - 6 0.500
4 =ZEET 6 - 1|86 - 1 1| 4 |os1a| 2 P
12:00 = 6 - 515 - 6 18 EEH
4 - 6 6 - 4 0.000 5
5 FATS 1 - 6 2 - 6 |om| 1 [oss| 4 FUZTC
5 - 6 3 - 6 |28
6| coolon | - i N 1
1 - 6 6 - 1|2 0564
12:00 6 - 5 6 - 5 |oB COOLON
4 - 6|5 - 6 0.500
7 RIGTLD (65 - g ; - (65 1& 2 |oss2| 3 SHRE
10:30~
RAET=R N
3
SpEaat
65 63 64
= 441
=EET
BAET=R
10AE BFBHSR DF—LBR(BE) OBAHAH OMES—LE
-+ =37 a JOvy 6 Game \—5H; 108318
No FHITNG F—L%Z THEDG 2/GIENT | 3-BEBBI] O] @ | ® |IEs KRBT, SHLREHY 118 38
6 - 4 6 - 3 [1.000
1 HEDG 6 - 4 6 - 1 | 28| 6 Jo720| 1
8:30 6 - ole - 2ok HEDG
4 - 6 5 - 6 ]0.000
2 INIJRENT 4 - 6 2 - 6 |OBs| 1 [o404]| 3
0 - 6 6 - 1 |28
. 3 - 6|6 - 5 0500
103 3 ([=ZEREHT |1 - 6|6 - 2 1| 2 [osso| 2
2z - 611 - 6 18 50-POND(D)
9:00
a-+ b JOvs 6 Game
vo B F—L% 4 50-POND(D | 5 JL-I—XF 6 7 JAR 7 CARTC DT ® [IER 01, 3, @2
4 - 6 6 - 1.000
4 [ 50-PONDD 6 - 1|6 - 4 28| 5 |osso| 1
8:30 6 - 3]le6 - 1 oy
. 6 - 4 6 - 4 [0000
5 JL-d—Rk 1 - 6 3 - 6 0| 2 [o396| 4
3 - 6 2 - 6 |
) A - s I 3 0'5;;) 2 [oars| 3
6 4 4 - 6 6 - 3|1 } .
8:30 1T - 6 0o - 6 |iE 50-PONDD
T - 6|3 - 6 0.500 "
7 CAHBTC 6 - 3|3 - 6 1| 3 [ose9| 2 Ll
6 — 2 6 — 0 18 Fok:kok 50-POND@
36 62 60
-k c Javy 6 Game P
no HHg N 8 EBHRTC | 950-PONDD | 0 X0 [ D [ @ [ @ [IER] EEH
8 | BT s - sle - 5|am|a : #xmr=a
5 6 - 5 6 - 5 2 0.508
8:30 6 - 516 - 3 ]o& RIFRATC
6 - 4 2 - 6 ]0.000
9| 50-POND®@ [ 5 - &6 1 - 6 | o] 1 o4os| 3
5 - 6 4 - 6 |oE
N 6 - 3|6 - 2 0.500
10:30] 10 | FUT RV 5 - 6|6 - 1 18| 4 [ose3| 2
3 - 6l6 - 4 18
9:0
62. 63, 56
a-+ d oy 6 Game =
vo BAET 57 TN EXET-X] TIWMIC T=EET TO O O EE] RRET=2
- 1 4 - 6 [1.000
11| RRET=X 6 - 5|6 - 3 |2m| 5 |ossof 1
8:30 6 - 516 - ook HEDG 3t
1 - 6 5 - 6 [0.000 L
12 MTC g - g g - g gg 1 [o421] 3 3T HEDG
75— S0 RRET=R 64 63 62 1
. -z _ _ : 41
10:30| 13 =ZEET (3) - g g . 2 @ 3 |o4s3| 2 EUhATC
RiHRTC



10A31H

-+
NO

1]

8:30

10:30!

8:30

8:30

527

8:30

8:30

9:00

10: 30

10A31H

-+
NO

-+

i3]

12:00

13:30

527

12:00

13:30

%

12:00

12:00

527

9:00

10:30,

BFCHOFR DF—LBR(BE) OBHRAN OMEr—LE
a Jayy 6 Game F:&)—% 108318
NO F—L7 T\—ZTC 2 T-MIRAI KEZF 7 Ol Hol ORI 2R®Y—% 11A 38
N 0 - 6] 3 - 6 [0000
1 IN—ATC 6 - 0 3 - 6 (ig 1 |0348] 3
2 - 612 - 6|2 _—
6 - 0 3 - 6 0500 FLT Ry
2 T-MIRAI 0 - 6 6 - 4 | 18| 3 o467 2
6 - 2 0 - 6 |18
N 6 - 3] 6 - 3 7,000
3| FUURbY [ 6 - 3| 4 6 o | 5 [oe67| 1
6 - 2186 - o0 0B
b JOvy 6 Game
NO F—L%Z 4 BEoa—F71C| 5JL-d—XF 6 HEDG TINIENT DT @] @ [IER
s - 6] 6 - 2 0,500
4 [iBE>a1=7FTC 4 - 6|5 - 6 | 3 [osea| 2
6 - 416 - 0 18
5 . 6 - 4 6 - 0 1.0’%} . ;
JL-d— 6 - 4 6 - 5|2 0554 o
A~ s s - & lom JL-I—Rb
2 - 6 6 - 0 [0.000
6 HEDG 6 - 5 2 - 6 |o| 2 [o3se| 4
0o - 6 0 - 6 |28
- 0 - 6] 0 - 6 0,500
7 INITRENT 5 - 6 6 - 2 1| 3 [oso0| 3
6 - 3186 - o0 18
c Favy 6 Game
NO F—LZ 8 WaWalE &80 | 0 RIBFRTC 10 cABTC 1 94TC DT 2] @ [IER
2 - 6] 6 - 3 0,500
8 | WaiWai{EZER 6 - 0|6 - 0 1| 3 [os33| 2
4 - 6]l0 - s 18
6 - 2 6 - 4 [1.000
9 | RIEHRTC g - g g - g gg 4 |osa2| 1 ElthaTo
3 - 6 0 - 6 [0.000
10 ZAKTC 0 - 6 1 - 6 | ops| 2 [o400| 4
6 - 0 6 Wo 0 |28
r - 6]6 - 0 0.500
1 J4TC 6 - 2|6 - 1 1| 3 [os12] 3
0 - 610 wo s 18
2RY—F (E1) 6 H—hkm Bz —7
NO F—L% FOTRRY JL-I—XF REBFRIC DT O] [EE |
6 - 4| 6 - 5 [1.000
3| FUHRN 6 - 0] 6 - 1 |2| 5 |oe3s| 1 ) —J &
0 wo 6|6 - 1 |o0H&
T - &6 6 - 4 0500 YR
5[ wa3—xk [0 - s 1 - 6 | 1| 3 |oses| 2 IR
6 WO 0 6 - 4 |18
5 - 6| 4 - 6 0.000
9| RpRTC | 1 - 6|6 - 1 o | 1 |od04| 3
- 614 - 6 288
BFVIHIZR DF—LBR(BE) OBFHEHR OMES—LE
a2 JOvy 6 Game F#E—5 10A318
NO F—LE 1 JJoATCA 2 JT=99R 3 1B(D D1 @ 3 [IEk 2R&)—% 118 38
& - 0| 6 - 2 [1000
1| FUrRTCD 6 - 4|6 - 0 |2m| 6 |oss7| 1
T TP RTCD
2 TJI=wYR 4 - 6 0 - 6 |ofs| 1 [0302] 3
0o - 6 3 - 6 |28
2 - 6] 0 - &6 0500
3 B 0o - 6 6 - 0 1| 2 [o341] 2
o - 6]l86 - 3 18
b Jovy 6 Game
NO F—LA 4 T XTCR 5 KKI5D 6 FATS Ol @] Q |IEf
6 - 2| 1 - 6 0500
4 | FYRTCQ 6 - 1 0 - 6 1% 3 [o475| 2
6 - o0o]lo - 61
2 - 6 0 - 6 0000 FATS
5 £EXU57 1T - 6 1 - 6 |om| o [ot00| 3
0o - 6 0 - 6 |28
6 - 1] 6 - 0 1.000
6 FATS 6 - 0|6 - 1 os | 6 [ooar| 1
6 - o0ole - o0 0Bk
c ZOvy 6 Game
NO F—L% T===5T 84 TC 9 ZEUS 10 1B@ DT O] ® [IEH
& - 1]6 - 3 7,000
7 =EET 6 - 0 3 - 6 28 | 5 |oess| 2
6 - 216 - 3 0B
R S TC T - 6 3 - 6 o.oﬂo;? } .
4 0 - 6 6 - 5 [o 0.271
2 - 6 1 - 6 |2 TBQ
3 - 6 T - 6 [0.000
9 ZEUS 6 = 3 4 - 6 |OMs| 2 |o460| 3
3 - 6 6 - 0 |8k
& - 3|6 - 1 7.000
10 TB® 5 - 6 6 - 4 28 | 4 [osso| 1
6 - 1]0 - & 0Bk
PRU—FEUD) 6 H—L%ER gL)—7
NO —‘r—/.\% T~ XTC FATS TBQ D110 [ EE |
& - 3| 6 - 0 [1000
1| FYVRTCD 6 - 5| 4 - 6 |28| 5 [oea2| 1 160)—5 B
6 - 4186 - 1 |om
3 - 6 5 - 6 |0.500 3
6 FATS 5 - 6 6 - 4 | 1| 2 |oasz| 2 FVYRTCD
4 - 6 6 - 2 |18
0 - 6|6 - 5 0.000
10 TB® 6 - 4] 4 - 6 ofs | 2 Joses| 3
i - 612 - 6 28




10A3E BFVIHSR

T B

12:00

12:00

12:00

12:00

108318
2

12:00

12:00

10A318
2

8:30

8:30

T E

8:30

8:30

10A318
T

8:30

10:30

OF —LBK (BE) OBFIHEHR OMEFS—LE

a JOovs 6 Game DEd 1 10A318
NO F—L% T/A—XTC 7 RIGTOB Rk ) e — O o ® [EE] KRB BIRE 118 38
6 - 1[6 - 1 1,000
1 IN—RTC 6 - 2|86 - 5 28| 6 |ores| 1
6 - ole - 2 0B
1 - 6 0 - 6 |0.000 N
2| EBTOB |2 - 6 4 - 6 |om| o |os| 4 | NTATC
0o - 6 1 - 6 |28k
. T - 6 6 - 3 [0000
3 =E 5 - 6 4 - 6 [os| 1 [oan1| 3
2 - 6 5 - 6 |28
N 6 - 0] 3 - &6 7.000
4 EYR)— 6 - 4|6 - 4 28| 5 |oe23| 2
6 - 1l6 - 5 0Bk
b JOvs 6 Game 10:30 46 62 63
NO F—LZ SREBO—TC| 6 RAKIST 7500TC =BT O] @ [IEf
6 - 26 - 1 0500
5 | RIEA—>TC 5 - 6|6 - 2 18| 4 [oso4]| 2
0o - 6l6 - 2 18
R 2 - 6 1 - 6 |1.000
6 RXRY77 6 - 5 6 - 4 |2ms| 4 |ossf 1
6 - 0 6 - 3 |oB
7 500TC > Z . S 2 8 om| 4
2 - 6 2 - 6 [0 0.286 =
2 - 6 1 - 6 | 28k §k777
8 =EET ?1 _ é g - g 0'15;%? 3 [os77| 3
=% - - . Loy o
= s - sl - 18 SR EH
10:30~
EYR)—
60 61 46
RBOo—2TC
TFAVSR DF—LBREE) OBHRAY OMBr —LE
a JOvs Game
NO F—LZ 7 50-POND 7BRIC 3FATS ITVIRAL O 1013 L £T108318
6 - 0[]0 - 64 - 6 [1000
1 50-POND 6 - 1 6 - 1 6 - 3 | 3pE| 7 [oe97] 1
6 wo o6 - ole6 - 3 ]|oB
N 0 - 6 4 - 6 3 - 6 [0000
2 #TC T - 6 o - 6|1 - 6 (@; 0 [o143| 4
0 WO 6 0 wo 6|0 wo 6/s3 o
s FATS 6 - 0 6 - 4 6 - 3 o.en(; ] ) 50-POND
T - 6|6 - 0 6 - 4|2 0574 st
o - 6l6 wo o 2 - 6 |im R
6 - 46 - 3|3 - &6 0.333
4 T-MIRAI 3 - 6 6 - 1 4 - 6 18| 5 [0558] 3
3 - 616 wo ol 2 288
ZFBISR DF—LBH(BE) OBHHEH OB —LE
a JOvy 6 Game =8 1083180
NO F—L 1 BUN BUN 2 hAREL 3 WaWailEZah | 4T-MIRAI@ | D | @ | @ [IEM] REE. 3RE 118 38
6 - 46 - 2 1,000
1 BUN BUN 6 - 0 6 - 0 2| 4 |osos| 1
i - 6]38 - 6 0B
T - 6 6 - 5 [0500
2 hRAL 0 - 6 2 - 6 || 3 |os0| 3 |BUN BUN
6 - 1 6 - 0|18
i 2 - 6 6 - 3 [0500
3 | WaiWaifEZEER | 0 - 6 4 - 6 |[1B]| 3 [os00| 2
6 - 3 6 - 0|1
5 6] 3 - 6 0.000
4 | T-MIRAIQ 6 - 2|86 - 4 ops | 2 o400 4
0 610 - 6 288
b JOvy 6 Game 9:00 61. 60
NO F—L% 5 RIBHRIC =Z= TT-MIRAID | 8J1=95X ] O] @ | ® |IEfE .
2 - 6|6 - 4 0.000
5 | RIGPRTC 2 - 6|1 - 6 ofs | 2 o408 4
6 - 1]3 - 6 288
. 6 - 2 0 - 6 [0500
6 =ZEET 6 - 2 4 - 6 || 2 [oa17] 3
1 - 6 3 - 6 |1&
A@ 4 - 6 3 - 6 ]0.500 ) 9
7 T-MIRAI 6 - 1 0o - 6 | 18 0.440 —
6 - 3 3~ g |lim TI=9HR
— 6 - 0|6 - 3 7,000
8 | IJz=vwHR g . g g - (3) (z)g 6 [o735| 1 3R
O~
WaiWai{E Z£48
60. 64, 26
T-MIRAID
KFCIFA DF—LBH(BE) OBHHEH OB —LE
NO F—LZ 1 T-MIRAI 2942TC 3XVIRE 1 O 1T @1 ® [IEf
1 - 6 5 - 6 ]0.500
1 T-MIRAI 0 6 6 - 1| 18| 3 [os00f 2
6 - 5|6 - o1&
6 - 1 6 - 0 [1.000 oY
2 42 TC 6 - 0 6 - 3 |om| 5 |o7s| 1
5 - 6 6 - 0 |oB
N 6 - 5|0 - 6 0.000
3| FUURM 1 - 6|3 - 6 ops | 1 [o222] 3
o - 6flo - s 288

21
‘X957

R
R—ZTC

3L
RiFO—>TC

441
ESM)—

=%

Tz=yHR

£

BUN BUN

3L
T-MIRAID
2 iva

WaiWaiff &5



108818 TFVIHISR

10A31A(2:&
118 3BI22&E

1-2,3-4,5-2, 13, 5-4
OB~ 2-4,3-5,1-4,2-3,. 1.5

I gy a JOvy 6 ~—LER
No T INg F—L% 1 ABERDS [2=221(1)] 3T'MRAIl | 4=2210Q 5335 DT o1 ® TIE
3 - 6|6 - 4]6 - 1]6 - 3]1000
1| RERO= 6 - 2|6 - 3|6 - 1|6 - 3|am]| 11 [o734 1
8:30 6 wo 0|6 - 216 - 0|6 - o]ok B
510 6 - 3 6 - 0] 6 2| 2 - 6 [0500
2] =ZEZBEL 2 - 6 6 - 1|6 - of3 - 6|28 5 |0507| 3 N
0 WO 6 0 - oflo - oflo wo 6|28, RERO=
4 - 6|0 - 6 6 - 2|0 - 60250 -
3l TMRAL |3 - 6|1 - 6 5 - 6|0 - || 2 |o3si| 4 R
8:30 2 - 6|0 - 0 6 - 0]lo0o - o] 3 Jy—
T - 6] 2 - 6|2 - 6 T - 6 [0000 »332
4| =ZFETIQ 1t - 6|0 - 6|6 - 5 1 - 6 |oms]| 1 |0177] 5
0o - 6]lo - oflo - 6 0 - 6|4
3 - 6|6 - 2|6 - o0]6 - 1 0.750
10:30| 5 $335 3 - 6|6 - 3|6 - o6 - 1 3| 8 0695 2
0 - 6|6 wo olo - o]l6 - o 18
108318 XFVIISR 10831812284 1-2,3-4,5-2, 13, 5-4
N N 118 3BI22& 9B~ 2-4.3-5,14,2-3.15
gy a JAavy 6 H—L%kE
NO NO F—L%& 1HTED 2 T-MIRAI 32335 4 HIHEAQ | 5 =BT Dl @] ® |IEE
6 - 2|1 - 6|6 - 3|6 - 5]050
1l HTHAD 6 - 5|2 - 6|6 - o3 - 62| 5 |0447] 3
8:30 5 - 6|3 - 6|2 - 6|0 - 6]|2K
2 - 6 3 - 6|3 - 6|6 - 4]050 L
2 T-MIRAI 5 - 6 1 - 6 6 - 2 3 - 6 | 2B% 5 0440 4 s =
6 - 5 1 - 6l6 - 4ale - a|om TR
6 - 1]6 - 3 6 - 1|6 - 1 [1000 5 "
3 <333 6 - 2|6 - 1 6 - o1 - 6|4 | 11 [0o770] 1 HER
8:30 6 - 316 - 1 6 - 116 - 0] o0& =
3 - 6|6 - 3|1 - 6 0 - 6 |0000 =EET
4ol A2 [0 - 6|2 - 6|0 - 6 o - 6 |om| 3 |o312] 5
6 - 214 - 6|1 - 6 6 - 5|4
N 5 - 6|4 - 6|1 - 6]6 - 0 0,500
10:30| 5 =EET 6 - 3|6 - 3|6 - 1|6 - 0 28 | 6 |0547| 2
6 - 0|4 - 6]0 - 6|5 - & 288




